BIDDER A. Teichert & Son Inc. Granite Construction Company Cinderlite Trucking Corp. Bing Materials

BID TERMS 1%, 10 Days Net 30 Days Net 30 Days 2%, 25 Days

Bid #15-288-059 3/8" x No. 6 and 5/16" x No. 8 Crushed Aggregate Chips East and West Slopes

	SCH	EDU	LE 1A,	LINE	1: 3/8" X No.	6 CR	USHED AGGR	EGA	TE CHIPS				
PRODUCT / SCHEDULE	Cost per Ton	x	Tons	=	Bid Total	-	Terms Discount *	=	Product Subtotal	+	Hauling	=	Evaluated Total
STOCKPILE LOCATION: South Shing	gle Road @ Durock R	oad											
A. Teichert & Son Inc.	No Bid	х	776	=	#VALUE!	-	\$0.00	=	#VALUE!		\$0.00		#VALUE!
Granite Construction Company	\$21.33	х	776	=	\$16,552.08	-	\$0.00	=	\$16,552.08		\$0.00		\$16,552.08
Cinderlite Trucking Corp.	\$43.60	х	776	=	\$33,833.60	-	\$0.00	=	\$33,833.60		\$0.00		\$33,833.60
Bing Materials	No Bid	х	776	=	#VALUE!	-	\$0.00	=	#VALUE!		\$0.00		#VALUE!

	SC	HEDU	ILE 1A,	LINE	2: 3/8" X No.	6 CRU	SHED AGG	REGA	TE CHIPS			
PRODUCT / SCHEDULE	Cost per Ton	Х	Tons	=	Bid Total	-	Terms	=	Product Subtotal	+	Hauling	 Evaluated Tota
STOCKPILE LOCATION: EI Dorado H	lills Blvd. @ Francis	co Dr	ive			т						
A. Teichert & Son Inc.	No Bid	Х	925	=	#VALUE!	-	\$0.00	=	#VALUE!		\$0.00	#VALUE!
Granite Construction Company	\$21.33	Х	925	=	\$19,730.25	-	\$0.00	=	\$19,730.25		\$0.00	\$19,730.25
Cinderlite Trucking Corp.	\$43.60	X	925	c=1	\$40,330.00	12	\$0.00	=	\$40,330.00		\$0.00	\$40,330.00
Bing Materials	No Bid	х	925	=	#VALUE!	12	\$0.00	==	#VALUE!		\$0.00	#VALUE!

	SCI	HEDL	JLE 1A,	LINE	E 3: 3/8" X No.	6 CRL	SHED AGG	REGAT	TE CHIPS			
PRODUCT / SCHEDULE	Cost per Ton	X	Tons	=	Bid Total	-	Terms	=	Product Subtotal	+	Hauling =	Evaluated Total
STOCKPILE LOCATION: Mother Lode	e Drive @ Buckeye F	Road	(East E	nd)		1						
A. Teichert & Son Inc.	No Bid	Х	531	=	#VALUE!	-	\$0.00	=	#VALUE!		\$0.00	#VALUE!
Granite Construction Company	\$22.02	х	531	=	\$11,692.62	-	\$0.00	=	\$11,692.62		\$0.00	\$11,692.62
Cinderlite Trucking Corp.	\$43.60	х	531	=	\$23,151.60	-	\$0.00	=	\$23,151.60		\$0.00	\$23,151.60
Bing Materials	No Bid	х	531	=	#VALUE!		\$0.00	=	#VALUE!		\$0.00	#VALUE!

	SCH	IEDL	JLE 1A,	LINE	E 4: 3/8" X No.	6 CR	USHED AGGR	EGA	TE CHIPS				
							Terms						
PRODUCT / SCHEDULE	Cost per Ton	х	Tons	=	Bid Total	-	Discount *	=	Product Subtotal	+	Hauling	=	Evaluated Total
STOCKPILE LOCATION: South Shing	le Road - 1/2 Mile So	uth d	of Bran	don	Road								
A. Teichert & Son Inc.	No Bid	Х	376	=	#VALUE!	-	\$0.00	=	#VALUE!		\$0.0	0	#VALUE!
Granite Construction Company	\$22.62	х	376	=	\$8,505.12	-	\$0.00	=	\$8,505.12		\$0.0	οΓ	\$8,505.12
Cinderlite Trucking Corp.	\$43.60	х	376	=	\$16,393.60	-	\$0.00	=	\$16,393.60		\$0.0	0	\$16,393.60
Bing Materials	No Bid	х	376	=	#VALUE!	-	\$0.00	=	#VALUE!		\$0.0	0	#VALUE!

	SCH	EDU	LE 1A,	LINE	5: 3/8" X No.	6 CR	USHED AGGR	EGA	TE CHIPS				
PRODUCT / SCHEDULE	Cost per Ton	х	Tons	=	Bid Total	-	Terms Discount *	=	Product Subtotal	+	Hauling	=	Evaluated Total
STOCKPILE LOCATION: End of Bone	etti Road					1							
A. Teichert & Son Inc.	No Bid	х	538	=	#VALUE!		\$0.00	=	#VALUE!		\$0.0	0	#VALUE!
Granite Construction Company	\$23.82	х	538	=	\$12,815.16	-	\$0.00	=	\$12,815.16		\$0.0	οΓ	\$12,815.16
Cinderlite Trucking Corp.	\$43.60	х	538	=	\$23,456.80		\$0.00	=	\$23,456.80		\$0.0	0 -	\$23,456.80
Bing Materials	No Bid	Х	538	=	#VALUE!	-	\$0.00	=	#VALUE!		\$0.0	0	#VALUE!

÷.

i.

1

Bid #15-288-059 3/8" x No. 6 and 5/16" x No. 8 Crushed Aggregate Chips East and West Slopes

	SCH	EDL	JLE 1A,	LIN	E 7: 3/8" X No.	6 CR	RUSHED AGGRE	GA	TE CHIPS				
HAULING EXPENSE CALCULATION FO	R ITEM 1A, LINE 7 -								Соп				# of Trips
Cost of Driver/Truck			\$50.00/						3/8" x No. 6 Crushe	ed A	ggregate Chips		42
Average Speed			30 miles	1.0.0									
RATE TO HAUL			\$50.00	/ 30	mph = \$1.67/mile	Э		- 1					
Average Truck Capacity			12 tons										
VENDOR	Miles 1-Way	х	2	х	Hauling Rate	=	Mileage Cost	x	Total Trips	=	Total Hauling		
A. Teichert & Son Inc.	No Bid	Х	2	х	\$1.67	=	#VALUE!	х	42	=	#VALUE!		
Granite Construction Company	32.80	х	2	х	\$1.67	=	\$109.55	х	42	=	\$4,601.18		10 Days ARO
Cinderlite Trucking Corp.	134.00	х	2	х	\$1.67	=	\$447.56	х	42	=	\$18,797.52		1 Day ARO
Bing Materials	85.00	Х	2	х	\$1.67	=	\$283.90	Х	42	=	\$11,923.80		
							Terms						
PRODUCT / SCHEDULE	Cost per Ton	х	Tons	=	Bid Total	-	Discount *	=	Product Subtotal	+	Hauling	=	Evaluated Total
A. Teichert & Son Inc.	No Bid	х	504	=	#VALUE!	-	\$0.00	=	#VALUE!		#VALUE!	_	#VALUE!
Granite Construction Company	\$15.75	х	504	=	\$7,938.00	-	\$0.00	=	\$7,938.00		\$4,601.18		\$12,539.18
Cinderlite Trucking Corp.	\$12.90	х	504	=	\$6,501.60	-	\$0.00	=	\$6,501.60		\$18,797.52		\$25,299.12
Bing Materials	\$12.90	х	504	=	\$6,501.60	-	(\$130.03)	=	\$6,371.57		\$11,923.80		\$18,295.37

s.

.

2

Bid #15-288-059 3/8" x No. 6 and 5/16" x No. 8 Crushed Aggregate Chips East and West Slopes

	SCH	EDU	LE 1B,	LINE	1: 5/16" X No.	8 CF	RUSHED AGGR	REGA	ATE CHIPS				
PRODUCT / SCHEDULE	Cost per Ton	x	Tons	=	Bid Total		Terms Discount *	=	Product Subtotal	+	Hauling	=	Evaluated Total
STOCKPILE LOCATION: EI Dorado H	lills Blvd. @ Francisc	o Dr	ive										
A. Teichert & Son Inc.	\$25.51	Х	836	=	\$21,326.36	-	\$0.00	=	\$21,326.36		\$0.0	0	\$21,326.36
Granite Construction Company	\$26.18	х	836	=	\$21,886.48	-	\$0.00	=	\$21,886.48		\$0.0	0	\$21,886.48
Cinderlite Trucking Corp.	\$43.60	х	836	=	\$36,449.60	-	\$0.00	=	\$36,449.60		\$0.0	0	\$36,449.60
Bing Materials	No Bid	х	836	=	#VALUE!	(4)	\$0.00	=	#VALUE!		\$0.0	0	#VALUE!

	SCHE	EDU	LE 1B,	LINE	E 2: 5/16" X No.	8 CI	RUSHED AGGR	EGA	TE CHIPS			
HAULING EXPENSE CALCULATION FC Cost of Driver/Truck Average Speed RATE TO HAUL Average Truck Capacity	DR ITEM 1B, LINE 2 ·		\$50.00/ 30 mile	'hour s pei / 30		9			Con 3/8" x No. 6 Crushe		odity Aggregate Chips	# of Trips 42
VENDOR	Miles 1-Way	х	2	х	Hauling Rate	=	Mileage Cost	х	Total Trips	=	Total Hauling	
A. Teichert & Son Inc.	34.00	х	2	х	\$1.67	=	\$113.56	х	42	=	\$4,769.52	
Granite Construction Company	79.70	Х	2	х	\$1.67	=	\$266.20	х	42	=	\$11,180.32	10 Days ARO
Cinderlite Trucking Corp.	134.00	Х	2	х	\$1.67	=	\$447.56	х	42	=	\$18,797.52	1 Day ARO
Bing Materials	No Bid	Х	2	Х	\$1.67	=	#VALUE!	Х	42	=	#VALUE!	
PRODUCT / SCHEDULE	Cost per Ton	x	Tons	=	Bid Total	-	Terms Discount *	=	Product Subtotal	+	Hauling =	Evaluated Total
A. Teichert & Son Inc.	\$18.00	Х	504	=	\$9,072.00	1	\$0.00	=	\$9,072.00		\$4,769.52	\$13,841.52
Granite Construction Company	\$13.00	х	504	=	\$6,552.00	-	\$0.00	=	\$6,552.00		\$11,180.32	\$17,732.32
Cinderlite Trucking Corp.	\$12.90	Х	504	=	\$6,501.60	-	\$0.00	=	\$6,501.60		\$18,797.52	\$25,299.12
Bing Materials	No Bid	х	504	=	#VALUE!	\sim	#VALUE!	=	#VALUE!		#VALUE!	#VALUE!

a.

3

¥.

Bid #15-288-059 3/8" x No. 6 and 5/16" x No. 8 Crushed Aggregate Chips East and West Slopes

	SCH	EDL	JLE 2A,	LINE	E 1: 3/8" X No.	6 CR	USHED AGGR	EGA	TE CHIPS				
							Terms						
PRODUCT / SCHEDULE	Cost per Ton	х	Tons	=	Bid Total	-	Discount *	=	Product Subtotal	+	Hauling	=	Evaluated Total
STOCKPILE LOCATION: Glenridge Roa	d, Tahoma, CA					1							
A. Teichert & Son Inc.	No Bid	Х	2000	=	#VALUE!		\$0.00	=	#VALUE!		\$0.0	D	#VALUE!
Granite Construction Company	\$37.94	х	2000	=	\$75,880.00	-	\$0.00	=	\$75,880.00		\$0.0	D	\$75,880.00
Cinderlite Trucking Corp.	\$41.40	х	2000	=	\$82,800.00	-	\$0.00	=	\$82,800.00		\$0.0	D	\$82,800.00
Bing Materials	\$32.10	х	2000	=	\$64,200.00	-	\$0.00	=	\$64,200.00		\$0.0	D [\$64,200.00

	SCH	IEDU	JLE 2A,	LINE	E 2: 3/8" X No.	6 CR	USHED AGGR	EGA	TE CHIPS				
							Terms						
PRODUCT / SCHEDULE	Cost per Ton	х	Tons	=	Bid Total	-	Discount *	=	Product Subtotal	+	Hauling	=	Evaluated Total
						-							
STOCKPILE LOCATION: 7101 Wilson Av	enue, Tahoma, C	A											
A. Teichert & Son Inc.	No Bid	Х	500	=	#VALUE!	-	\$0.00	=	#VALUE!		\$0.0	0	#VALUE!
Granite Construction Company	\$38.46	Х	500	=	\$19,230.00	-	\$0.00	=	\$19,230.00		\$0.0	0	\$19,230.00
Cinderlite Trucking Corp.	\$41.40	х	500	=	\$20,700.00	-	\$0.00	=	\$20,700.00		\$0.0	0	\$20,700.00
Bing Materials	\$32.10	Х	500	=	\$16,050.00	-	\$0.00	=	\$16,050.00		\$0.0	0	\$16,050.00

	SCH	EDL	JLE 2A,	LINE	E 3: 3/8" X No.	6 CR	USHED AGGR	EGA	TE CHIPS				
PRODUCT / SCHEDULE	Cost per Ton	x	Tons	=	Bid Total	•	Terms Discount *	=	Product Subtotal	+	Hauling	=	Evaluated Total
STOCKPILE LOCATION: 1121 Shakor	i Drive, Meyers, CA												
A. Teichert & Son Inc.	No Bid	Х	1500	=	#VALUE!	-	\$0.00	=	#VALUE!		\$0.0	0	#VALUE!
Granite Construction Company	\$33.08	x	1500	=	\$49,620.00	-	\$0.00	=	\$49,620.00		\$0.0	0	\$49,620.00
Cinderlite Trucking Corp.	\$32.19	х	1500	=	\$48,285.00	-	\$0.00	=	\$48,285.00		\$0.0	0	\$48,285.00
Bing Materials	\$22.90	х	1500	=	\$34,350.00	-	\$0.00	=	\$34,350.00		\$0.0	0	\$34,350.00

	SCH	EDL	ILE 2A,	LIN	E 4: 3/8" X No.	6 CF	RUSHED AGGRE	GA	TE CHIPS				
HAULING EXPENSE CALCULATION FO	OR ITEM 2A, LINE 4								Con				# of Trips
Cost of Driver/Truck			\$50.00/	1002100					3/8" x No. 6 Crushe	d A	ggregate Chips		42
Average Speed			30 mile										
RATE TO HAUL			\$50.00	/ 30	mph = \$1.67/mile	3			**DOT Yard locatio	n fo	r this schedule was	incorr	ect on bid,
Average Truck Capacity			12 tons								on: 1121 Shakori Dr s have been adjuste		
VENDOR	**Miles 1-Way	х	2	х	Hauling Rate	=	Mileage Cost	x	Total Trips	=	Total Hauling		
A. Teichert & Son Inc.	No Bid	x	2	х	\$1.67	=	#VALUE!	х	42	=	#VALUE!		
Granite Construction Company	84.70	х	2	х	\$1.67	=	\$282.90	X	42	=	\$11,881.72	10	Days ARO
Cinderlite Trucking Corp.	78.40	х	2	х	\$1.67	=	\$261.86	х	42	=	\$10,997.95		1 Day ARO
Bing Materials	27.30	Х	2	х	\$1.67	=	\$91.18	Х	42	=	\$3,829.64		
							Terms						
PRODUCT / SCHEDULE	Cost per Ton	х	Tons	=	Bid Total	-	Discount *	=	Product Subtotal	+	Hauling	= Eva	aluated Total
A. Teichert & Son Inc.	No Bid	х	504	=	#VALUE!	- 1	\$0.00	=	#VALUE!		#VALUE!		#VALUE!
Granite Construction Company	\$15.75	X	504	=	\$7,938.00	-	\$0.00	=	\$7,938.00		\$11,881.72	3	\$19,819.72
Cinderlite Trucking Corp.	\$12.90	х	504	=	\$6,501.60	-	\$0.00	=	\$6,501.60		\$10,997.95		\$17,499.55
Bing Materials	\$12.90	х	504	=	\$6,501.60	-	(\$130.03)	=	\$6,371.57		\$3,829.64		\$10,201.21

4